Razr

Item # Description Qty
X Bo76b RAZR FINGER GUARD - R 1
2 5051 SCREW 4-40 X 1/2 2
3 Bo788 SIDEARM CAVITY COVER 1

b 3167 SWING SWIVEL STUD 3/8
7 3169 3/8 PIN
8 1533 S50FT TOUCH GRIF, ELACK

9 3656/3657 3656 - UPPER/3657 - LOWER
10 B6781 RAZR BLADE SHEATH

= g b e e

12 6BS7 RAZR KNIFE LOCK 1
13 6896 RAZR KNIFE LOCK HOUSING 1
14 6796 CCD HOLE COVER 1
15 6797 CCD SWITH COVER 1
16 3449 8-32 X 3/8 SCREW 1
17 B6784 RAZR UNDERARM HOOK 1
18 BE783 RAZR HOOK MECHANISM 1

20 6785A RAZR HOOK S5PRING BEOTTOM 1
£1 3180 4-40 X 1/4 SCREW 1
22 3180 4-40 X 1/4 SCREW 1
23 B6761 RAZR BUTT PAD 1
24 3008 FIBER WASHER-WHEEL SPACER 1
25 3169 SWING SWIVEL STUD 3/8 - WOOD 1
26 6798 CCD SIDE, RAZR 1
27 6796 CCD HOLE COVER, RAZR 1
28 B6764 RAZR CHEEK PIECE 1

30 B6788 5IDEARM CAVITY COVER

f—

Pl

32 5051 4-40 X 1/2 SCREW
33 B6765 RAZR FINGER GUARD - L

i

36 3658 10-24 X 3/4 SCREW 1
a7 3627 TRIGGER HOOD GASKET 1
38 3626 TRIGGER HOOD 1
33 3644 4-40 x 1-3/4 SCREWS 2
40 B3670 7/8 SCOPE MOUNT 1
41 3646 8-32 X 3/4 SCREW 2
42 3675 TRIGGER HOOD HOLDER 1
43 3677 TRIGGER HOOD BRUSH 1

Cannot be sold to Consumers




	Sheet1
	Drawing View1


